As required by Florida Statute 553.842 and Florida Administrative Code 9B-72, please provide the information and approval numbers on the building

components listed below if they will be utilized on the construction project for which you are applying for a building permit. We recommend you contact

your local product supplier should you not know the product approval number for any of the applicable listed products. Statewide approved products are

listed online @ www.floridabuilding.org

Category/Subcategory Manufacturer Product Description Approval Number(s)
1. EXTERIOR DOORS

A. SWINGING Trinity Glass Internationall Glazed fiberglass door non-impact inswing/outswing 20867.3

B. SLIDING Jeld-Wen steel 24 ga. wood edge opaque w/ full lite 15474 .2

C. SECTIONAL/ROLL UP

D. OTHER

2. WINDOWS

A. SINGLE/DOUBLE HUNG

B. HORIZONTAL SLIDER

C. CASEMENT

D. FIXED

E. MULLION

F. SKYLIGHTS

G. OTHER

3. PANEL WALL

A. SIDING

B. SOFFITS

C. STOREFRONTS

D. GLASS BLOCK

E.OTHER

4. ROOFING PRODUCTS

A. ASPHALT SHINGLES

B. NON-STRUCT METAL

C. ROOFING TILES

D. SINGLE PLY ROOF

E. OTHER

5. STRUCT COMPONENTS

A. WOOD CONNECTORS

B. WOOD ANCHORS

C. TRUSS PLATES

D. INSULATION FORMS

E. LINTELS

F. OTHERS

6. NEW EXTERIOR

ENVELOPE PRODUCTS

The products listed below did not demonstrate product approval at plan review. | understand that at the time of inspection of these products, the following

information must be available to the inspector on the jobsite; 1) copy of the product approval, 2) performance characteristics which the product was tested and

certified to comply with, 3) copy of the applicable manufacturers installation requirements.

Further, | understand these products may have to be removed if approval cannot be demonstrated during inspection.

CobGro—

NOTES:




INSTALLATION NOTES:

1.

ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN.

THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE
MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT
INSTALLATION OF THE MAXIMUM SIZE LISTED.

INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A TOLERANCE
OF £1/2 INCH (L.E., WITHOUT CONSIDERATION OF TOLERANCES).
TOLERANCES ARE NOT CUMULATIVE FROM ONE INSTALLATION
ANCHOR TO THE NEXT.

SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD
BEARING SHIM(S). MAXIMUM ALLOWABLE SHIM STACK TO BE 1/4
INCH. SHIM WHERE SPACE OF 1/16 INCH OR GREATER OCCURS.
SHIM(S) SHALL BE CONSTRUCTED OF HIGH DENSITY PLASTIC OR
BETTER.

THROUGH FRAME: FOR INSTALLATION INTO 2X WOOD FRAMING USE
MINIMUM #10 WOOD SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1
1/2" MINIMUM EMBEDMENT INTO WOOD SUBSTRATE. MINIMUM EDGE
DISTANCE OF 3/4" SHALL BE MAINTAINED.

THROUGH FRAME: FOR INSTALLATION INTO CONCRETE/MASONRY,
USE 1/4" ITW TAPCONS OR 1/4" ELCO ULTRACONS OR 3/16" ITW
TAPCONS OF SUFFICIENT LENGTH TO ACHIEVE 1 1/4" MINIMUM
EMBEDMENT INTO CONCRETE/MASONRY.

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL
FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM, BRICK
VENEER, AND SIDING.

INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE
MADE OF CORROSION RESISTANT MATERIAL OR HAVE A
CORROSION RESISTANT COATING.

FOR HOLLOW BLOCK AND GROUT FILLED BLOCK, DO NOT INSTALL
INSTALLATION ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE IS
MEASURED FROM FREE EDGE OF BLOCK OR EDGE OF MORTAR
JOINT INTO FACE SHELL OF BLOCK.

. INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE

WITH ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS,
AND ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH
STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BY
THE ANCHOR MANUFACTURER.

. INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE

BASED ON SUBSTRATE MATERIALS WITH THE FOLLOWING

PROPERTIES:

A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.55.

B. CONCRETE - MINIMUM 3000 PSI COMPRESSIVE STRENGTH

C. HOLLOW/GROUT FILLED CMU - STRENGTH CONFORMANCE TO
ASTM C90, MIN. F'm = 2000 PSI.

Trinity Glass International

GLAZED FIBERGLASS DOOR
NON-IMPACT INSWING/OUTSWING

GENERAL NOTES:

1.

THE PRODUCT SHOWN HEREIN IS DESIGNED AND
MANUFACTURED TO COMPLY WITH THE CURRENT FLORIDA
BUILDING CODE (FBC), INCLUDING HVHZ AND HAS BEEN
EVALUATED ACCORDING TO THE FOLLOWING:

TAS 202-94

ASTM E283-04

ASTM E330-02

ASTM E331-00

AAMA 1304-02

ADEQUACY OF THE EXISTING STRUCTURAL
CONCRETE/MASONRY AND 2X FRAMING AS A MAIN WIND
FORCE RESISTING SYSTEM CAPABLE OF WITHSTANDING AND
TRANSFERRING APPLIED PRODUCT LOADS TO THE
FOUNDATION IS THE RESPONSIBILITY OF THE ENGINEER OR
ARCHITECT OF RECORD FOR THE PROJECT OF INSTALLATION.

1X AND 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND
ANCHORED TO PROPERLY TRANSFER ALL LOADS TO THE
STRUCTURE. BUCK DESIGN AND INSTALLATION IS THE
RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF
RECORD FOR THE PROJECT OF INSTALLATION.

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT IN NON-HVHZ
AREAS.

APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED FOR
THIS PRODUCT.

FRAME & MULLION MATERIAL: PYC OR WOOD

CLADDING MATERIAL: FIBERGLASS

TRINITY GLASS INTERNATIONAL

TRINITY GLASS
B INTERNATIONAL

3365 1ST WAY S

FEDERAL WAY, WA 98003

PH: (253) 875-7300

TABLE OF CONTENTS

SHEET #

DESCRIPTION

General notes

Typical elevations, design pressures

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

GENERAL NOTES
398 E. DANIA BEACH BLVD. #338

PREPARED BY:
ﬁ BUILDING DROPS, INC.

DANIA BEACH, FL 33004

FX: (954) 744-4738

PH: (954) 399-8478

Typical elevations, design pressures

Typical elevations, design pressures

Typical elevations, design pressures

Door panel construction details

Door panel construction details

Door panel construction details

1
2
3
4
5
6
7
8
9

Sidelite panel construction details

Sidelite panel construction details

Sidelite panel construction details

Horizontal cross sections

Horizontal cross sections

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Vertical & Horizontal cross sections

Horizontal cross sections

Buck & Frame anchoring

REVISIONS

DESCRIPTION

BY | DATE

Buck anchoring

Frame anchoring

Frame anchoring

Frame anchoring

Frame anchoring

Buck anchoring

Frame anchoring

Buck anchoring

7
| 3,
S,

\‘O x Hg‘

20578

0.

Frame anchoring

Components

Components

Components

Digitally signed by Hermes F. Norero, P.E. . .
Bill of materials

Reason: | am approving this document
Date: 2016.10.18 09:21:11 -04'00'




8€Ly-¥¥L (¥G6) :Xd 8.¥8-66€ (¥G6) Hd

bbee v S1N
¥00€€ 74 'HOV38 VINVQ YRR :37v9S
gee# 'AATg HOV3E YINVA '3 86€ "
"ONI 'SdO¥dQ 9NIQTINgG Fris KA
Y $3 3 £:A9 JHD
:A9 Q3AVdIAd P 4 -

YYE s
FUNSSIYd NOIS3A ot 5/ N ;
nz<zo_h<>m._m._<o_n_>h zoﬁﬁﬂ_ummo 1 I A 2 JAENMT

. : 91'¥1°L0
4000 S5V iou3813 Qazv1o UL SNOISIAIY , 31

3365 1ST WAY S

FEDERAL WAY, WA 98003
PH: (253) 875-7300

|] TRINITY GLASS

S INTERNATIONAL

TRINITY GLASS INTERNATIONAL

FL-20867.3

DWG #:

DESIGN PRESSURE (PSF)
FLUSHGLAZED/MAHOGANY
POSITIVE | NEGATIVE

[EE——

< T
°8
XI
<=
= w
E =
23
|
(e9]

POSITIVE | NEGATIVE

DESIGN PRESSURE (PSF)
LIPLITE

| ————

CpeRd

(ONIMSLNO) LHOIFH FNVHES "XVIN .05 08

(ONIMSNI) LHOITH JNVHL "XVIN .£9°18

MAX
FRAME
DIMENSION
37.50" X 81.63"




1

=———53.00" MAX O.A. FRAME WIDTH

2Y 3

1

2

\15A15/\17

\16/\16

81.63" FRAME HEIGHT (INSWING)

0}
z
=
7
|_
o
e
|_
T
o
i
T
w
=
<
s
L
o
0
o
o)

f11\
(3
\12/
(1Y
17/

<

<

y

O

2

13
4
13

CONTINUOUS HEADER AND SILL

68.50" MAX O.A. FRAME WIDTH

1V 2

3

\15A 1517

81.63" FRAME HEIGHT (INSWING)

80.50" FRAME HEIGHT (OUTSWING)

<

J

TRINITY GLASS
INTERNATIONAL

TRINITY GLASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

CONTINUOUS HEADER AND SILL

DESIGN PRESSURE
FX: (954) 744-4738

PREPARED BY:
DANIA BEACH, FL 33004

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR
TYPICAL ELEVATION AND

{2) BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

BY | DATE

REVISIONS

DESCRIPTION

CONFIGURATION

MAX.
FRAME
DIMENSION

JAMB & MULLION TYPE

DESIGN PRESSURE (PSF)
LIPL ITE

DESIGN PRESSURE (PSF)
FLUSHGLAZED/MAHOGANY

POSITIVE

NEGATIVE

POSITIVE

NEGATIVE

53.00" X 81.63"

WOOD

+47.0

-47.0

+60.0

-60.0

PVC

+47.0

-47.0

+55.0

-55.0

68.50" X 81.63"

WOOD

+47.0

-47.0

+60.0

-60.0

A% B

pi AUTHORIZA

Lt

FBPE CEl

PVC

+47.0

-47.0

+55.0

-55.0

NTS




37.50" MAX
FRAME WIDTH

1

~——53.00" MAX O.A. FRAME WIDTH

15.50" MAX

2Y 3

FRAME WIDTH

2

\15A 1517

N7/

)
<
=
®)
<
|_
T
o
]
T
W
=
<
s
L
)
©
©

80.50" FRAME HEIGHT (OUTSWING)

<

y

/

<

(34N
\15A15/

<

3
\16/

68.50" MAX O.A. FRAME WIDTH

37.50" MAX
FRAME WIDTH

1Y 2Y3
\15A 1517

15.50" MAX

FRAME WIDTH

D
NI/}

81.63" FRAME HEIGHT (INSWING)
80.50" FRAME HEIGHT (OUTSWING)

<

/

y

<

(34N
\15A15/

/

<

(3

CONFIGURATION

MAX.
FRAME
DIMENSION

JAMB & MULLION TYPE

DESIGN PRESSURE (PSF)
LIPL ITE

DESIGN PRESSURE (PSF)
FLUSHGLAZED/MAHOGANY

POSITIVE NEGATIVE

POSITIVE

NEGATIVE

WOOD

+47.0 -47.0

+55.0

-55.0

53.00" X 81.63"

PVC

+47.0 -47.0

+55.0

-55.0

68.50" X 81.63"

WOOD

+47.0 -47.0

+55.0

-55.0

PVC

+47.0 -47.0

+55.0

-55.0

TRINITY GLASS
INTERNATIONAL

TRINITY GLASS INTERNATIONAL
3365 1STWAY S
FEDERAL WAY, WA 98003

PH: (253) 875-7300

DESIGN PRESSURE
FX: (954)744-4738

PREPARED BY:
DANIA BEACH, FL 33004

PH: (954) 399-8478

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR
TYPICAL ELEVATION AND
398 E. DANIA BEACH BLVD. #338

12) BUILDING DROPS, INC.

BY | DATE

REVISIONS

DESCRIPTION

o.. OLO
A\, e .
}ﬁ RMF:sA.k;,: N::% 0., N
it SO S

FBPE CERT

SCALE:
NTS

SHEET: 4 OF 32



TRINITY GLASS
INTERNATIONAL

105.00" MAX. O.A. FRAME WIDTH

74.00" MAX. O.A. FRAME WIDTH

15.50" FRAME WIDTH TRINITY 6LASS INTERNATIONAL

3365 1STWAY S

74.00" FRAME WIDTH : ~ 3 FEDE:A(;:;;;}X%?)?)O%

\15A 1517

N

FX: (954)744-4738

DESIGN PRESSURE

PREPARED BY:

y

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR
TYPICAL ELEVATION AND
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

(2) BUILDING DROPS, INC.

PH: (954) 399-8478

BY | DATE

o 2
s =
= 5
<2 =
e D
= 0
5
w o
T w
" T
s w
< =
o <
TH [n'd
x &+
2z

=
™ -
f o
© g

o0}

REVISIONS

DESCRIPTION

DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION FRAME ALUMINUM ASTRAGAL PVC ASTRAGAL

DIMENSION POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
XX 74.00" X 81.63" +55.0 .55.0 +47.0 -47.0
105.00" X 81.63"|  +55.0 .55.0 +47.0 -47.0

SHEET: 5 OF 32



r.17"

/_ TOP RAl L TRINITY 6LASS INTERNATIONAL
1.22" 1 56" PVC 3365 1ST WAY 5

FEDERAL WAY, WA 98003
PH: (253) 875-7300

J

LVL STILE
EXTERIOR TRINITY GLASS
//FIBERGLASS SKIN & e PVC STILE CAP EE INTERNATIONAL

AR

Ay
MO

|

—‘}— \~ FOAM CORE INTERIOR LVL LOCK BLOCK

PVC STILE CAP LVL STILE

IITIIT

K] 22777272

FX: (954) 744-4738

35.75"
PANELWIDTH | @ HORIZONTAL CROSS SECTION

DOOR PANEL
CONSTRUCTION DETAILS

PREPARED BY:

- 21.0;]D.L.O. — .50" GLASS BYTE
HOT & FOAM MELT SEALANT — 1" O.A. THK GLASS

NON-IMP. INSWING/OUTSWING
DANIA BEACH, FL 33004

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338

/Q\BUILDING DROPS, INC.

PH: (954) 399-8478

1/8" TEMPERED GLASS
AIR SPACE

BY | DATE

EXTERIOR INTERIOR

A
\8/

1/8" TEMPERED GLASS

ALUMINUM/BUTYL
) OR STAINLESS STEEL
#8 X 1-1/8" SELF SPACER SYSTEM

|~ SEE DETAL | THREADING SCREW : i FOAM CORE

REVISIONS

DESCRIPTION

GLAZING DETAIL
LIPLITE FRAME

79.00" PANEL HEIGHT
7777

SOSSASSW

FSRSSSSI

/— LVL LOCK BLOCK

§
<

; |~ BOTTOM RALL
PVC

LIPLITE FRAME
ABS or PC/ASA

A6

LOCKSET HARDWARE
MANUFACTURER MODEL

—_ KWIKSET LOCK & DEADBOLT COMBO

2 SIGNATURE SERIES 991 /2 VERTICAL CROSS SECTION

(l/.
(0) KWIKSET LOCK & DEADBOLT COMBO \@j

SIGNATURE SERIES 980

LOCK: F-SERIES
DEADBOLT: B60 SERIES

7 GLAZED DOOR
LIP LITE SCHLAGE

FIBERGLASS SKIN: 0.079" THICK MIN. DETAIL 1
FOAM CORE: POLYURETHANE




r.']?"

l * TRINITY 6LASS INTERNATIONAL
" " 3365 1ST WAY S
1. {2 1.56" 1.25 FEDERAL WAY, WA 98003

+ PH: (253) 875-7300

N

LVL STILE -
EXTERIOR I TRINITY GLASS
//FIBERGLASS SKIN Sala PVC STILE CAP L INTERNATIONAL

YL
0y

S b
1 N

SUMMMNIN
Sk

v

2227273

Ii
I

N[g 22227744

J—% ta X ) i ety AT
“‘ l FOAM CORE — |
LnE FOAM CORE INTERIOR LVL LOCK BLOCK _

PVC STILE CAP LVL STILE

FX: (954) 744-4738

3575 7\ HORIZONTAL CROSS SECTION FIBERGLASS SN
PANEL WIDTH W "

~—21.0"D.L.O.— .50" GLASS BYTE

q HOT & FOAM —1" 0.A. THK GLASS R
MELT SEALANT | e
1/8" TEMPERED GLASS !

DOOR PANEL
CONSTRUCTION DETAILS

PREPARED BY:

DANIA BEACH, FL 33004

PH: (954) 399-8478

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING
398 E. DANIA BEACH BLVD. #338

@ BUILDING DROPS, INC.

.‘7//)//{;
U

2772728

2
A TSI
VASNAL VEANAD

NG

AIR SPACE

BY | DATE

INTERIOR

EXTERIOR

N
7/ ALUMINUM/BUTYL

NN

OR STAINLESS STEEL Al

#8 X 1-1/8" SELF SPACER SYSTEM
THREADING SCREW

/— SEE DETAIL 1

REVISIONS

DESCRIPTION

GLAZING DETAIL
FLUSHGLAZED FRAME

79.00" PANEL HEIGHT

L3~ FOAM CORE

/— LVL LOCK BLOCK

: /— BOTTOM RAIL
PVC

?

FLUSHGLAZED FRAME 1.35"
ABS or PC/ASA ‘

A7

LOCKSET HARDWARE
MANUFACTURER MODEL

KWIKSET LOCK & DEADBOLT COMBO

525 SIGNATURE SERIES 991 /2 VERTICAL CROSS SECTION

(L.
o) KWIKSET | LOCK & DEADBOLT COMBO 7/

SIGNATURE SERIES 980

LOCK: F-SERIES
DEADBOLT: B60 SERIES

7 GLAZED DOOR
FLUSHGLAZED SCHLAGE

FIBERGLASS SKIN: 0.079" THICK MIN. DETAIL 1
FOAM CORE: POLYURETHANE




LVL STILE

/ /FIBERGLASS SKIN

EXTERIOR

r.17"

%,

W7

7] B

Z

\~ FOAM CORE

PVC STILE CAP

35.75"
PANEL WIDTH

- 23.2"D.L.O. —

INTERIOR

TIZ 1.56"
_ i

/ 1\ HORIZONTAL CROSS SECTION

LVL LOCK BLOCK

LVL STILE

— 8.2"
4 —

5"

79.00" PANEL HEIGHT

|

IR

9.5"

#

A
8/

/— SEE DETAIL 1

HOT & FOAM
MELT SEALANT

FIBERGLASS SKIN \ E

.50" GLASS BYTE

THLTL." 2.4
INNANSAASNSNT )

27

gz

755, 020 17/H
4

V2222

Z

#8 X 1-1/8" SELF
THREADING SCREW

G

7 GLAZED DOOR

MAHOGANY

/_

FIBERGLASS SKIN: 0.079" THICK MIN.
FOAM CORE: POLYURETHANE

DETAIL 1

— 1" O.A. THK GLASS
1/8" TEMPERED GLASS

AIR SPACE

1/8" TEMPERED GLASS

ALUMINUM/BUTYL
OR STAINLESS STEEL

SPACER SYSTEM

@9

1 GLAZING DETAIL
MAHOGANY FRAME

LVL LOCK BLOCK

,
77777

| —
p 77777,

777772
NN 77777

’"V

A8
ABS or PC/ASA

LOCKSET HARDWARE

MANUFACTURER

MODEL

KWIKSET

LOCK & DEADBOLT COMBO
SIGNATURE SERIES 991

KWIKSET

LOCK & DEADBOLT COMBO
SIGNATURE SERIES 980

SCHLAGE LOCK:

DEADBOLT: B60 SERIES

F-SERIES

PVC STILE CAP

f

1.25"

#

FOAM CORE \'

TOP RAIL
- PVC

EXTERIOR

INTERIOR

MAHOGANY FRAME

1 FOAM CORE

BOTTOM RAIL
PVC

/2 VERTICAL CROSS SECTION

\8/

TRENETY GLASS
M INTERNATIONAL

TRINITY GLASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

FX: (954) 744-4738

DOOR PANEL
CONSTRUCTION DETAILS

PREPARED BY:
DANIA BEACH, FL 33004

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

{2} BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

BY | DATE

REVISIONS

DESCRIPTION

SHEET: 8 OF 32



FIBERGLASS SKIN LVL STILE i TRINITY GLASS
.| INTERNATIONAL
EXTERIOR

LVL STILE \ : \ 'X | | TRINITY 6LASS INTERNATIONAL

3365 1ST WAY S
* FEDERAL WAY, WA 98003

v LVL TOP RAIL PH: (253) 875-7300

: Iy 1.25"
/ INTERIOR ;
FOAM CORE

FIBERGLASS SKIN\

FX: (954) 744-4738

/17 HORIZONTAL CROSS SECTION

13.88" MAX. N
PANEL WIDTH FOAM CORE—~_r
6.92 " MAX D.L.O. <

SIDELITE PANEL
CONSTRUCTION DETAILS

PREPARED BY:

DANIA BEACH, FL 33004

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

@ BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

50" GLASS BYTE
HOT & FOAM MELT SEALANT — 1" O.A. THK GLASS

BY | DATE

(1
\9/

1/8" TEMPERED GLASS
AIR SPACE EXTERIOR i INTERIOR

\\AANNNN-/

1/8" TEMPERED GLASS

ALUMINUM/BUTYL
OR STAINLESS STEEL
#8 X 1-1/8" SELF SPACER SYSTEM
THREADING SCREW

REVISIONS

DESCRIPTION

|_
T O
o i
L
T ()
3 X
4 <
z S
o S
S &
>
N~

GLAZING DETAIL
LIPLITE FRAME

7
7)

L1 /

LVL BOTTOM RAIL/

V77

< OAOANNTNY

[ZZTTIY 7]

TSSSSSSSY

§

SIDELITE PANEL ) 2\ VERTICAL CROSS SECTION
LIPLITE FRAME LIPLITE FRAME 9/

A9
ABS or PC/ASA

FIBERGLASS SKIN: 0.079" THICK MIN.
FOAM CORE: POLYURETHANE




FIBERGLASS SKIN LVL STILE g ! TRINITY GLASS
/ EXTERIOR

LVL ST|LEX N7z ~ I Y TRINITY 6LASS INTERNATIONAL
Sz \ \ - 1.56" 1.72" * L LVL TOP RAIL 3365 15T WaAY'S
N I B i/

FEDERAL WAY, WA 98003
1.25" PH: (253) 875-7300

#

/ INTERIOR FIBERGLASS SKIN
FOAM CORE \

FX: (954) 744-4738

/1\ HORIZONTAL CROSS SECTION ;
13.88" MAX. NI
PANEL WIDTH FOAM CORE ™\ 772,
7.00" MAX D.L.O.

SIDELITE PANEL
CONSTRUCTION DETAILS

PREPARED BY:
DANIA BEACH, FL 33004

NON-IMP. INSWING/OUTSWING

50" GLASS BYTE NN

Wiz
HOT & FOAM — 1" O.A. THK GLASS
MELT SEALANT

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338

@ BUILDING DROPS, INC.

PH: (954) 399-8478

1/8" TEMPERED GLASS

BY | DATE

(1
\10/

AIR SPACE

INTERIOR

EXTERIOR

1/8" TEMPERED GLASS

ALUMINUM/BUTYL
OR STAINLESS STEEL

#8 X 1-1/8" SELF SPACER SYSTEM
THREADING SCREW A 4 |

OO
- TIII4

REVISIONS

63.00" MAX D.L.O.
DESCRIPTION

GLAZING DETAIL
FLUSHGLAZED FRAME

G1

|_
I
o
L
I
-
L
=
<
o
o
Q
(o]
N~

LVL BOTTOM RAIL /

2\ VERTICAL CROSS SECTION
\10/

5 SIDELITE PANEL 10--FLUSH GLAZED FRAME
FLUSHGLAZED FRAME ABS or PC/ASA

FIBERGLASS SKIN: 0.079" THICK MIN.
FOAM CORE: POLYURETHANE




TRINITY GLASS
FIBERGLASS SKIN LVL STILE QE INTERNATIONAL
EXTERIOR

%,
QL4

.

LVL STILE \ g > \ .? P ! TRINITY 6LASS INTERNATIONAL
1.56" 1.72" 125" ! PH: (253) 875-7300

| \I 3365 1ST WAY S
\ \
1 L= +

* -~ LVL TOP RAIL FEDERAL WAY, WA 98003
INTERIOR FIBERGLASS SKlN\

Iy
7

FOAM CORE

FX: (954) 744-4738

/T HORIZONTAL CROSS SECTION
NG

8.00" MAX. D.L.O.

FOAM CORE

SIDELITE PANEL
CONSTRUCTION DETAILS

PREPARED BY:
DANIA BEACH, FL 33004

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338

@ BUILDING DROPS, INC.

PH: (954) 399-8478

HOT & FOAM —— .50" GLASS BYTE

MELT SEALANT —1" O.A. THK GLASS

\ 1/8" TEMPERED GLASS
NI _ ' 2 ' AIR SPACE

BY | DATE

INTERIOR

Q22T 7,

EXTERIOR

1/8" TEMPERED GLASS

('A\)II_?USIV'II'I Elll{ll\lill/EBSUSTg'II:EEL {17
" Dot
THREADING SCREW

63.00" MAX D.L.0.
REVISIONS
DESCRIPTION

GLAZING DETAIL

G1 MAHOGANY FRAME

|_
T
)
L
I
-
L
=z
<
o
o
Q
(o))
~

74

2
’;/

LVL BOTTOM RAIL/

/2 VERTICAL CROSS SECTION
NEX

S 77777 LII

TTT7T T

SIDELITE PANEL MAHOGANY FRAME
O MAHOGANY FRAME 817 ABS or PCIASA

FIBERGLASS SKIN: 0.079" THICK MIN.
FOAM CORE: POLYURETHANE




1-1/4" MIN
EMB. (TYP)

: oL le; 1t e
v ad] [ iﬁl : INTERIOR

HOTIINTT

/1T HORIZONTAL CROSS SECTION

\12/ SHOWN W/ 2X WOOD BUCK
Outswing shown - Inswing also approved

1-1/4" MIN
EMB. (TYP)

INTERIOR

F

6 EXTERIOR

/3 HORIZONTAL CROSS SECTION

\12/ SHOWN W/ 1X WOOD BUCK
Outswing shown - Inswing also approved

NOTE:

i//{ / it
(SEE NOTE 1)
G EXTERIOR EXTERIOR @

1-1/4" MIN
EMB. (TYP)

INTERIOR

1ANAY

0,

/2 HORIZONTAL CROSS SECTION

\12/ SHOWN W/ 2X WOOD BUCK
Outswing shown - Inswing also approved

2o\

INTERIOR

///g/j/% ke

(SEE NOTE 1)

1-1/4" MIN
EMB. (TYP)

EXTERIOR

/4 HORIZONTAL CROSS SECTION

\12/ SHOWN W/ 1X WOOD BUCK
Outswing shown - Inswing also approved

1. SIDELITE SCREWS LOCATED 6" FROM EACH END OF SIDE JAMB AND 3 EQUALLY SPACED SCREWS FROM THE END SCREWS.

TRINITY GLASS
INTERNATIONAL

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003

PH: (253) 875-7300

FX: (954) 744-4738

HORIZONTAL
CROSS SECTIONS

PREPARED BY:
DANIA BEACH, FL 33004

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

() BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

BY | DATE

REVISIONS

DESCRIPTION




INTERIOR
(SEENOTE1): \ O\

F
EXTERIOR

/1T HORIZONTAL CROSS SECTION
WOutswing shown - Inswing also approved

‘DGD“\\
INTERIOR
(SEE NOTE 1)

F

EXTERIOR

/3 HORIZONTAL CROSS SECTION
3/ Outswing shown - Inswing also approved

NOTE:

INTERIOR

EXTERIOR
EXTERIOR

A HORIZONTAL CROSS SECTION
13/ Outswing shown - Inswing also approved

INTERIOR

N

4\ HORIZONTAL CROSS SECTION
13/ Outswing shown - Inswing also approved

EXTERIOR

1. SIDELITE SCREWS LOCATED 6" FROM EACH END OF MULLION AND 3 EQUALLY SPACED SCREWS FROM THE END SCREWS.

TRINITY GLASS
INTERNATIONAL

TRINITY GLASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003

PH: (253) 875-7300

FX: (954) 744-4738

HORIZONTAL
CROSS SECTIONS

PREPARED BY:
DANIA BEACH, FL 33004

PH: (954) 399-8478

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338

@ BUILDING DROPS, INC.

REVISIONS

DESCRIPTION

SHEET: 13 OF 32



INTERIOR

INTERIOR

(SEE NOTE 1) EXTERIOR
EXTERIOR ———

(1T HORIZONTAL CROSS SECTION /2 HORIZONTAL CROSS SECTION
\14/ Outswing shown - Inswing also approved \14/ Outswing shown - Inswing also approved

O

- N

3N HORIZONTAL CROSS SECTION
\14/ Outswing shown - Inswing also approved

NOTE:
1. SIDELITE SCREWS LOCATED 6" FROM EACH END OF MULLION AND 3 EQUALLY SPACED SCREWS FROM THE END SCREWS.

TRINITY GLASS
INTERNATIONAL

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003

PH: (253) 875-7300

FX: (954) 744-4738

HORIZONTAL
CROSS SECTIONS

PREPARED BY:
DANIA BEACH, FL 33004

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

@ BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

BY | DATE

REVISIONS

DESCRIPTION




8 INTERNATIONAL

i TRINITY GLASS

1 TRINITY 6LASS INTERNATIONAL
1-1/4" MIN. 3365 1ST WAY S
EMB (TYP.) FEDERAL WAY, WA 98003

‘ PH: (253) 875-7300

}
1-1/4" MIN.

EMB (TYP.)
{

..'1 j -;_.-] '] '] -; v[ .

YA

|

FX: (954) 744-4738

I D>

VERTICAL
CROSS SECTIONS

PREPARED BY:

DANIA BEACH, FL 33004

EXTERIOR

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

@ BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

EXTERIOR

INTERIOR

INTERIOR

BY | DATE

/2 VERTICAL CROSS SECTION
/1T\ VERTICAL CROSS SECTION \15/ SHOWN W/ 1X WOOD BUCK

\15/ SHOWN W/ 2X WOOD BUCK Outswing shown - Inswing also approved
Outswing shown - Inswing also approved

Z
o
H
a.
-
o
O
v)
w
fa)

EXTERIOR INTERIOR

%)
Z
O
H
0
H
>
W
(a4

INTERIOR

EXTERIOR

1-1/4" MIN.
EMB (TYP.)

l

/3 VERTICAL CROSS SECTION (4 VERTICAL CROSS SECTION
157 GUTSWING SILL \15/ INSWING SILL




&

1-1/4" MIN.
EMB (TYP.)

1

(SEE NOTE 1)

OO NITHTTIIN>

%

A

EXTERIOR
INTERIOR

/T\ VERTICAL CROSS SECTION

N6/ sHowN W/ 1X WooD BUCK
Outswing shown - Inswing also approved

EXTERIOR INTERIOR

(SEE NOTE 1)

f

1-1/4" MIN.
EMB (TYP.)

l

/3 VERTICAL CROSS SECTION
&/ OUTSWING SILL

NOTE:

f

1-1/4" MIN.
EMB (TYP.)

$

T

N

(SEE NOTE 1)

a0~

EXTERIOR

NN

(SEE NOTE 1)
INTERIOR

/2 VERTICAL CROSS SECTION

\16/ SHOWN W/ 1X WOOD BUCK
Outswing shown - Inswing also approved

EXTERIOR
INTERIOR

- :(SEE NOTE 1)

N

/7 VERTICAL CROSS SECTION
\16/ INSWING SILL

1. SIDELITE SCREWS THRU HEADER AND SILL LOCATED AT CENTER OF EACH SIDELITE TOP AND BOTTOM RAILS.

i TRINITY GLASS

& INTERNATIONAL

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

FX: (954) 744-4738

VERTICAL
CROSS SECTIONS

PREPARED BY:
DANIA BEACH, FL 33004

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

@ BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

BY | DATE

%)
Z
O
H
0
H
>
W
(a4

Z
o
H
a.
-
o
O
v)
w
fa)




1-1/4" MIN 1-1/4" MIN .
EMB (TYP) EMB (TYP) I TRINITY GLASS
B INTERNATIONAL

SHEET ROCK B

o /— SHEET ROCK
FURRING =]
. /XJ/ FURRING TRINITY GLASS INTERNATIONAL
' 3365 15T WAY S
FEDERAL WAY, WA 98003
— < PH: (253) 875-7300

INTERIOR (SEENOTE1§:><ii::T\\ Vt'“*f?

<
P 1

WD -
INTERIOR T '

a0 G 3¥.
a~q A L
L A L
o <R i
TP AR g RO

FX: (954) 744-4738

1" MIN EDGE
DISTANCE

DISTANCE

1" MIN EDGE

CROSS SECTIONS

PREPARED BY:

HORIZONTAL & VERTICAL
DANIA BEACH, FL 33004

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

@ BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

EXTERIOR

BY | DATE

/1T HORIZONTAL CROSS SECTION 72\ HORIZONTAL CROSS SECTION

\1Z/ Direct to masonry (5-1/4" min jamb) 17/ Direct to masonry (5-1/4" min jamb)
Outswing shown - Inswing also approved Outswing shown - Inswing also approved

1" MIN EDGE 1" MIN EDGE
DISTANCE DISTANCE

SHEET ROCK SHEET ROCK

FURRING FURRING
/_ /_

ﬁ’////f_CD

%)
Z
O
H
0
H
>
W
(a4

Z
o
H
a.
-
o
O
v)
w
fa)

D —

I D —

7

A\

(SEE NOTE 2)

EXTERIOR INTERIOR EXTERIOR INTERIOR

73\ VERTICAL CROSS SECTION 4\ VERTICAL CROSS SECTION

\Z/ Direct to masonry (5-1/4" min jamb) \z/ Direct to masonry (5-1/4" min jamb)
Outswing shown - Inswing also approved Outswing shown - Inswing also approved

NOTE:

1. SIDELITE SCREWS LOCATED 6" FROM EACH END OF JAMB AND 3 EQUALLY SPACED SCREWS FROM THE END SCREWS.
2. SIDELITE SCREWS THRU HEADER AND SILL LOCATED AT CENTER OF EACH SIDELITE TOP AND BOTTOM RAILS.




1-1/4" MIN i TRINITY GLASS
EMB. (TYP) B INTERNATIONAL

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

1-1/4" MIN
EMB (TYP)

INTERIOR

FX: (954) 744-4738

SHEET ROCK

HORIZONTAL
CROSS SECTIONS

PREPARED BY:

FURRING

DANIA BEACH, FL 33004

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338

@ BUILDING DROPS, INC.

PH: (954) 399-8478

EXTERIOR ee

INTERIOR

®

2\ HORIZONTAL CROSS SECTION

A \18/ SHOWN W/ 2X WOOD BUCK
> # Outswing shown - Inswing also approved
1-1/4" MIN

BY | DATE

DISTANCE

1" MIN EDGE

EMB. (TYP)
EXTERIOR

REVISIONS

DESCRIPTION

7T\ HORIZONTAL CROSS SECTION

\18/ Direct to masonry (5-1/4" min jamb)
Outswing shown - Inswing also approved

INTERIOR

EXTERIOR

3\ HORIZONTAL CROSS SECTION

\18/ SHOWN W/ 1X WOOD BUCK
Outswing shown - Inswing also approved




TYP. HEAD
AND JAMBS

SEE HINGE
DETAIL 1

/5@

(G) 2x BUCK
(N) 1X BUCK

(H)2X BUCK
(L)1X BUCK

| INTERNATIONAL

g I TRINITY GLASS

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

(P) DIRECT TO
MASONRY

\@

HINGE DETAIL 1

T 1

(D) DIRECT TO
MASONRY

TYP. HEAD
& JAMBS

/\/

.
A
N
yas

FX: (954) 744-4738

1X/2X BUCK

DOOR FRAME\

ANCHORING

PREPARED BY:

BUCK & FRAME

1X/2X BUCK\

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR

@BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

PH: (954) 399-8478

MASONRY
OPENING

BY | DATE

—~®

(G) 2x BUCK

(N) 1x BUCK
(P) DIRECT TO
MASONRY

Vs \@

HINGE DETAIL 2

SEE HINGE
DETAIL 2

MASONRY
OPENlNG\X

T IS

TYP. SILL

REVISIONS

DESCRIPTION

FRAME ANCHORING
Masonry construction

HINGE JAMB STRIKE JAMB

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors
may be required to ensure the "MAX ON CENTER" dimensions are not exceeded.

2. Concrete anchor table: :@

ANCHOR
TYPE SIZE

2x Buck (1)
1X BUCK (N)

ANCHOR MIN. MIN. CLEARANCE MIN CLEARANCE TO
EMBEDMENT| TO MASONRY EDGE | ADJUSTMENT ANCHOR

1-1/4" 2" 4"

_1/ " 1"

4"

-1/4" 3"

1-1/2"

DIRECT TO (P)
MASONRY

o]

)/@

7|

ITW BUILDEX 1/4n
ULTRACON®
WOOD SCREW INSTALLATION NOTES: STRIKE PLATE DETAIL

TAPCON®
ELCO 1/4" 1
e | 3167 | 1

1. Maintain a min. 5/8" edge distance, & 1" o.c. spacing of wood screws to prevent

splitting of wood.

SHEET: 19 OF 32



| INTERNATIONAL

i TRINITY GLASS

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

TYP. HEAD
& JAMBS

TYP. HEAD
& JAMBS

BUCK ANCHORING
FX: (954) 744-4738

DANIA BEACH, FL 33004

PH: (954) 399-8478

1X/2X BUCK\

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

@ BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PREPARED BY:

1X/2X BUCK\
/ 15.13" MAX. \/ 15.13" MAX.
FOR REF. ONLY 0.C.(TYP.) 0.C(TYP)

‘ FOR REF. ONLY

MASONRY MASONRY
OPENING\X OPENING\k

BY | DATE

A .4

REVISIONS

DESCRIPTION

BUCK ANCHORING BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors may be
required to ensure the "MAX ON CENTER" dimensions are not exceeded.

. Concrete anchor table:

ANCHOR ANCHOR MIN. MIN. CLEARANCE MIN CLEARANCE TO
TYPE Size |EMBEDMENT| TO MASONRY EDGE | ADJUSTMENT ANCHOR

TARcONG | 1/4" | 1-1/4" 2" 4"
oLteaoone| 174" | 1-1/4" 1" 4"
TTARCONS | 3/16" | 1-1/4" 3" 1-1/2"
WOOD SCREW INSTALLATION NOTES:

1. Maintain a min. 5/8" edge distance, & 1" o.c. spacing of wood screws to prevent splitting of wood.




i TRINITY GLASS

SEE HINGE B INTERNATIONAL
DETAIL 1 S ) B §§ ” /_‘

TRINITY 6LASS INTERNATIONAL

3365 1ST WAY S

1 . FEDERAL WAY, WA 98003
PH: (253) 875-7300
(H)2X BUCK E)’ z
(L)1X BUCK

(D) DIRECT TO
MASONRY —

TYP. HEAD " : STRIKE PLATE DETAIL
& JAMBS

DOOR FRAME 7[® @

.
(G) 2x BUCK
i (N) 1X BUCK
(P) DIRECT TO

MASONRY . —~\ @ MASONRY
OPENING p

FX: (954) 744-4738

1X/2X BUCK

FRAME ANCHORING

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

@ BUILDING DROPS, INC.

PREPARED BY:

PH: (954) 399-8478

®~e|
IIIIIII‘&

BY | DATE

SEE HINGE 1 .
DETAIL 2 — HINGE DETAIL 1

TYP. SILL /_@

(G) 2x BUCK

(N)1X BUCK
(P) DIRECT TO

REVISIONS

DESCRIPTION

1 1N

MASONRY

HINGE JAMB e STRIKE MULLION NG
FRAME ANCHORING
CONCRETE ANCHOR NOTES: Masonry construction HINGE DETAIL 2

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors
may be required to ensure the "MAX ON CENTER" dimensions are not exceeded.

ANCHOR ANCHOR MIN. MIN. CLEARANCE MIN CLEARANCE TO
TYPE SIZE EMBEDMENT| TO MASONRY EDGE | ADJUSTMENT ANCHOR
pcoNe | 1/4" | 1-1/4" 2" 4"
ULTRacone| 174" | 1-1/4" 1" 4"
TARCONS | 3/16" | 1-1/4" 3" 1-1/2"

WOOD SCREW INSTALLATION NOTES: VIEW A-A VIEW A-A VIEW B-B VIEW B-B 4x

1. Maintain a min. 5/8" edge distance, & 1" o.c. spacing of wood screws Head to mullion attachment  Head to mullion attachment  Sill to mullion attachment  Sill to mullion attachment
to prevent splitting of wood. (Standard or Fat Mullion) (Two-piece Fat Mullion) (Standard or Fat Mullion) (Two-piece Fat Mullion)

SHEET: 21 OF 32



: - TRINITY GLASS
SEE HINGE SR R R R @§ INTERNATIONAL

DETAIL 1 ” /_‘
" 3365 1ST WAY S
] oo FEDERAL WAY, WA 98003
m 2X BUCK @/@ PH: (253) 875-7300
(L)1X BUCK

(D) DIRECT TO
MASONRY . —7

TYP. HEAD ’ STRIKE PLATE DETAIL
1X/2X BUCK & JAMBS

DOOR FRAME .
b %/_/C—@/_@
2X BUCK
) /,/ @

140 (N) 1X BUCK

TRINITY GLASS INTERNATIONAL

7|

FX: (954) 744-4738

FRAME ANCHORING

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

/Q\ BUILDING DROPS, INC.

PREPARED BY:

PH: (954) 399-8478

%S (P) DIRECT TO

MASONRY ~\ MASONRY
OPENING P

SEE HINGE 1 .
DETAIL 2 — HINGE DETAIL 1

TYP. SILL | 1 , /_@

(G) 2x BUCK
(N)1x BUCK

j (P) DIRECT TO

MASONRY

£

REVISTIONS
DESCRIPTION

T 1Y

HINGE JAMB CEL SEEP S - STRIKE JAMB |
FRAME ANCHORING 5
CONCRETE ANCHOR NOTES: Masonry construction HINGE DETAIL 2

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors
may be required to ensure the "MAX ON CENTER" dimensions are not exceeded.

ANCHOR ANCHOR MIN. MIN. CLEARANCE MIN CLEARANCE TO
TYPE SIzE |EMBEDMENT| TO MASONRY EDGE | ADJUSTMENT ANCHOR

TARcoNe | 1/4" | 1-1/4" 2" 4"
ULERSO el 174 | 1-1/4" 1" 4"

TAPCONG | 3/16" | 1-1/4" 3" 1-1/2"

WOOD SCREW INSTALLATION NOTES:

1. Maintain a min. 5/8" edge distance, & 1" o.c. spacing of wood screws
to prevent splitting of wood.

SHEET:Z 2 OF 3 2



SEE HINGE
XZTAL 1

31 oo MAX. |1
(TYP.) 1X/2X BUCK

L

DOOR FRAME

MASONRY

OPENING
SEE HINGE

DETAIL 2

(H)2X BUCK
(L)1X BUCK

(D) DIRECT TO
MASONRY

TYP. HEAD
& JAMBS

TYP. SILL

[

B

HINGE MULLION

CONCRETE ANCHOR NOTES:

FRAME ANCHORING

Masonry construction

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors
may be required to ensure the "MAX ON CENTER" dimensions are not exceeded.

ANCHOR ANCHOR MIN. MIN. CLEARANCE
TYPE SIzE | EMBEDMENT| TO MASONRY EDGE

MIN CLEARANCE TO
ADJUSTMENT ANCHOR

paoNe | 1/4" | 1-1/4" 2"

4"

uLTRACONe| 174" | 1-1/4" 1"

4"

TTARCONe | 3/16" | 1-1/4" 3"

1-1/2"

Bk

WOOD SCREW INSTALLATION NOTES:

1. Maintain a min. 5/8" edge distance, & 1" o.c. spacing of wood screws

to prevent splitting of wood.

VIEW A-A

uB

STRIKE MULLION

_VL

STRIKE PLATE DETAIL

% I

i TRINITY GLASS

B INTERNATIONAL

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

e

VIEW A-A

VIEW B-B

—~©®
—©

F
.
[~
\

1T 1S

)T
L7 |
HINGE DETAIL 1

—~©®
7
A

HINGE DETAIL 2

F
A
/
AN

7|

T IS

FX: (954) 744-4738

FRAME ANCHORING

NON-IMP. INSWING/OUTSWING
DANIA BEACH, FL 33004

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338

@ BUILDING DROPS, INC.

PREPARED BY:

PH: (954) 399-8478

BY | DATE

DESCRIPTION

REVISIONS

VIEW B-B

Head to mullion attachment
(Standard or Fat Mullion)

Head to mullion attachment
(Two-piece Fat Mullion)

Sill to mullion attachment
(Standard or Fat Mullion)

Sill to mullion attachment
(Two-piece Fat Mullion)

SHEET: 23OF 32



SEE HINGE
DETAIL 1

-

31.00" MAX.
0.C.(TYP.)

i

SEE HINGE
DETAIL 2

HINGE JAMB

1X/2X BUCK

DOOR FRAME

MASONRY
OPENING

I™~—(H)2x BUCK

(L)1X BUCK

_ (p)DIRECTTO

MASONRY

TYP. HEAD
& JAMBS

TYP. SILL

CONCRETE ANCHOR NOTES:

FRAME ANCHORING

Masonry construction

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors
may be required to ensure the "MAX ON CENTER" dimensions are not exceeded.

ANCHOR ANCHOR
TYPE SIZE

MIN.
EMBEDMENT

MIN. CLEARANCE
TO MASONRY EDGE

MIN CLEARANCE TO
ADJUSTMENT ANCHOR

ITW BUILDEX "
TAPCON® 1/4

1-1/4"

2"

4“

ELCO "
ULTRACON® 1/4

1-1/4"

1"

4"

ITW BUILDEX
TAPCON® | 3/16"

1-1/4"

3"

1-1/2"

WOOD SCREW INSTALLATION NOTES:

1. Maintain a min. 5/8" edge distance, & 1" o.c. spacing of wood screws
to prevent splitting of wood.

[
B

t |

STRIKE JAMB

Ned-@

ﬁL

STRIKE PLATE DETAIL

i TRINITY GLASS

= INTERNATIONAL

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

b

—~©®
—~©

.
/
™

01 IS

Lz |

@

HINGE DETAIL 1

[ ®
-©

®~e
I III‘&

.
< =
y

HINGE DETAIL 2

NON-IMP. INSWING/OUTSWING
FRAME ANCHORING
FX: (954) 744-4738

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

@ BUILDING DROPS, INC.

PREPARED BY:

PH: (954) 399-8478

BY | DATE

REVISIONS

DESCRIPTION

FL-20867.3

SHEET:24 OF 3.2



& INTERNATIONAL

i TRINITY GLASS

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

TYP. HEAD
& JAMBS

BUCK ANCHORING
FX: (954) 744-4738

DANIA BEACH, FL 33004

PH: (954) 399-8478

1X/2X BUCK
AN -

15.13" MAX.
0.C.(TYP.)

B

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

@ BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PREPARED BY:

BY | DATE

MASONRY
OPENINC&

REVISIONS

DESCRIPTION

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors may be
required to ensure the "MAX ON CENTER" dimensions are not exceeded.

. Concrete anchor table:

ANCHOR ANCHOR MIN. MIN. CLEARANCE MIN CLEARANCE TO
TYPE SIzE |EMBEDMENT| TO MASONRY EDGE | ADJUSTMENT ANCHOR

ApcoNe | 1/4" | 1-1/4" 2" 4"
ULtEae| 14" | 1-1/4" 1" 4"
TTAPCONS | 3/16" | 1-1/4" 3" 1-1/2"
WOOD SCREW INSTALLATION NOTES:

1. Maintain a min. 5/8" edge distance, & 1" o0.c. spacing of wood screws to prevent splitting of wood.




i TRINITY GLASS

= INTERNATIONAL

SEE HINGE

DETAIL 1 . o -
D

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

(H)2X BUCK 1
(L)1X BUCK

(D) DIRECT TO i
MASONRY

FX: (954) 744-4738

1 STRIKE DETAIL 1
1X/2X BUCK TYP. HEAD /ASTRAGAL SHOWN 14" MAX. i

DOOR FRAME ‘
—~(6)

FRAME ANCHORING

NON-IMP. INSWING/OUTSWING

DANIA BEACH, FL 33004

(G) 2X BUCK
(N) 1X BUCK

(P) DIRECT TO
MASONRY

TITLE: GLAZED FIBERGLASS DOOR
PREPARED BY:

@\ BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

W)

1 I

MASONRY
OPENING

N
A

BY | DATE

(I

SEE HINGE ]
DETAIL 2 PR HINGE DETAIL 1

TYP. SILL BJ

1%

/AN,

20,

(G) 2X BUCK
(N) 1X BUCK

(P) DIRECT TO
MASONRY

REVISIONS

DESCRIPTION

HINGE JAMB — e FRAME ANCHORING ASTRAGAL
Masonry construction y
CONCRETE ANCHOR NOTES: HINGE DETAIL 2

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors
may be required to ensure the "MAX ON CENTER" dimensions are not exceeded.

ANCHOR | ANCHOR MIN. MIN. CLEARANCE MIN CLEARANCE TO
TYPE SizE |EMBEDMENT| TO MASONRY EDGE | ADJUSTMENT ANCHOR

Tecone | 1/4" | 1-1/4" 2" 4"
uLTRACONe| 174" 1-1/4" 1" 4" ‘_H o\ L/

TWEULEX| 3/16" | 1-1/4" 3" 1-172" 1

WOOD SCREW INSTALLATION NOTES:

1. Maintain a min. 5/8" edge distance, & 1" o.c. spacing of wood screws VIEW A-A VIEWB-B :
to prevent splitting of wood. ’ Astragal Strike @ Head Astragal Strike @ Sill FL_20867 3

SHEET 26 OF 32




& INTERNATIONAL

i TRINITY GLASS

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

TYP. HEAD
& JAMBS

BUCK ANCHORING
FX: (954) 744-4738

DANIA BEACH, FL 33004

PH: (954) 399-8478

NON-IMP. INSWING/OUTSWING

1X/2X BUCK \

15.13" MAX.
0.C.(TYP.)

¢

TITLE: GLAZED FIBERGLASS DOOR
@BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338

PREPARED BY:

FOR REF. ONLY

BY | DATE

MASONRY
OPENINC&

.4

REVISIONS

DESCRIPTION

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors may be
required to ensure the "MAX ON CENTER" dimensions are not exceeded.

. Concrete anchor table:

ANCHOR | ANCHOR MIN. MIN. CLEARANCE MIN CLEARANCE TO
TYPE Size |EMBEDMENT| TO MASONRY EDGE | ADJUSTMENT ANCHOR

TapcoNe | 1/4" | 1-1/4" 2" 4"
WSO el 14" | 1-1/4" 1" 4"
TAPcONe | 3/16" | 1-1/4" 3" 1-1/2"
WOOD SCREW INSTALLATION NOTES:

1. Maintain a min. 5/8" edge distance, & 1" o.c. spacing of wood screws to prevent splitting of wood.




i TRINITY GLASS

= INTERNATIONAL

SEE HINGE
DETAIL 1

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

D

A

4 /
/
[ | ’ |
1 2X BUCK
1X BUCK
_ (D)DIRECTTO _ I
MASONRY [ ”
14" MAX.
1X/2X BUCK TYP. HEAD ASTRAGAL SHOWN I STRIKE DETAIL 1

& JAMBS FOR REF ONLY ‘
74@@
20

>_@ /
MASONRY ™~

OPENING i @

SEE HINGE 1 Lz |
I
DETAIL 2 HINGE DETAIL 1

FX: (954) 744-4738

.|DOOR FRAME

NON-IMP. INSWING/OUTSWING
FRAME ANCHORING

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

@ BUILDING DROPS, INC.

PREPARED BY:

PH: (954) 399-8478

2 e
I III‘&

BY | DATE

TYP. SILL

P—

[ [

. '__ : | [ l "
HINGE JAMB e FRAME ANCHORING @_\ ASTRAGAL

Masonry construction
N
@ ®

i\%i\@

—~®
#2C,
IS

REVISIONS

DESCRIPTION

w1 N

x@

4|// HINGE DETAIL 2

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations noted as "MAX ON CENTER" and at the corners must be
adjusted to maintain min. edge distance to mortar joints. Additional concrete anchors
may be required to ensure the "MAX ON CENTER" dimensions are not exceeded.

VIEW A-A
Astragal Strike @ Head

ANCHOR ANCHOR MIN. MIN. CLEARANCE MIN CLEARANCE TO

TYPE SIzE |EMBEDMENT| TO MASONRY EDGE | ADJUSTMENT ANCHOR
eaone | 174" | 1-1/4" 2" 4" /_@
U e| 14" | 1-1/4" 1" 4" L\
\‘ \\ //

TWEBILDE® | 3/16" | 1-1/4" 3" 1-1/2"
”Et o %
WOOD SCREW INSTALLATION NOTES:

1. Maintain a min. 5/8" edge distance, & 1" o.c. spacing of wood screws VIEW B-B FL_208673
to prevent splitting of wood. Astragal Strike @ Sil SHEET 2 8 OF 32




$
: 7 . 5 25" 049" — o ] TRINITY GLASS
_? / ‘ { |‘_ . ‘ 168" —— ;.3 glNTERNATIONAL
o 3.98" - _ )
| ~—1.98 — F'/ 2 A ﬂ 1 F % *
~ 8 TRINITY GLASS INTERNATIONAL
o o r T ' T TR
DOOR SWEEP o
aa->IPE ?ﬂFA? JAMBS (9 OUTSWING SIDELITE SPACER @5 M?\%R:L- . 82 2 B
O ©) i (5-1/4" or larger) MATERIAL: PVC ' of o | y¥sg:
S MATERIAL: WOOD 35 P Zo3 &
= : 5§ & | gpant
© O 2 4.56" Gz 3 SIT %
| ,, : B3 2| 353
o 22— 5 82 8 [s 855 ¢
o - ! ! Ss o A%< 2
i O H w Oo<Y o
. ™ .. Z‘ d AnZ 2
= d_ﬁ—\rﬁ ) S 2ws g
@ HINGE ? 8 E !é @?,3 "
MATERIAL: STEEL
2.44 @ OUTSWING SIDELITE SPACER =
4.56" MATERIAL: PVC 3
* @ SIDE & HEAD JAMBS =
[a)
: MATERIAL: PV
g ° 2
? 3 . B £
5.25" o =l z
@ OUTSWING SILL ‘ 0 Tcl')
ALUMINUM WITH PVC SUBSTRATE T g &
™ 1] 1T 3’3
5.63" ' ] - i W 2
J 2 [ o
s [ SIDE & HEAD JAMBS
5 @3
- (5-1/4" or larger)
T MATERIAL: PVC
@ INSWING THRESHOLD
ALUMINUM WITH PVC SUBSTRATE u,g 4.56" * — 122" —
. w50 : UL
* 5
— : ] | —
| 2.44"
?
(7 SIDE & HEAD JABS (3)-SIE & HEAD JAMBS (5)- SILL KEY DETAIL
MATERIAL: WOOD MATERIAL: PVC OPTIONAL




8 INTERNATIONAL

i TRINITY GLASS

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

FX: (954) 744-4738

@ STANDARD MULLION
MATERIAL: PVC

COMPONENTS
DANIA BEACH, FL 33004

NON-IMP. INSWING/OUTSWING

TITLE: GLAZED FIBERGLASS DOOR
398 E. DANIA BEACH BLVD. #338

@ BUILDING DROPS, INC.

PREPARED BY:

PH: (954) 399-8478

BY | DATE

FAT MULLION
MATERIAL: PVC

DESCRIPTION

2.00" (17)

@ MULLION BASE KIT
MATERIAL: PC/ASA

REVISIONS

URETHANE GLUE
\ URETHANE GLUE

///

\#8x1 1/4" PRH WS (4 NEAR SIDE)

#8x1 1/4" PRH WS (4 FAR SIDE)
@ STANDARD MULLION SECTION A-A (19
MATERIAL: WOOD

TWO-PIECE "FAT" MULLION
MATERIAL: PVC




]
?

SLIDE BOLT ROD
STEEL

JFQ 163"

TOP BOLT RETAINER
9-3/4" ALUMINUM

BOLT RETAINER

SLIDE BOLT ROD

ALUMINUM
ASTRAGAL

VIEW A-A
Aluminum Astragal Assembly

LATCH (BLIND HOLE)

SCREW LOCATIONS (TYP.) ~\ DEAD BOLT(THRU HOLE) \

33.13"

= AN

]

= ; N : o(

=

3.75" L

—~—10.75"

18.75"

26.75"

3.63"
~——10.50" —

-~ 18.50" ———

26.50"

@ ALUMINUM ASTRAGAL
6'8 Aluminum Astragal by Endura Products

| INTERNATIONAL

i TRINITY GLASS

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

FX: (954) 744-4738

COMPONENTS

NON-IMP. INSWING/OUTSWING
DANIA BEACH, FL 33004

TITLE: GLAZED FIBERGLASS DOOR
@BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338

PREPARED BY:

PH: (954) 399-8478

‘<— 7.84" ——

[=— i — ]

FLUSHBOLT BAR
Diecast Zinc

Of_

o

FLUSHBOLT
Diecast Zinc

144" ]

VIEW B-B
PVC Astragal Assembly

f

SCREW LOCATIONS (TYP.)

33.13"

43.62"

—] 1.09"
|-

DEADBOLT (THRU HOLE)

BY | DATE

%)
Z
O
H
0
H
>
W
(a4

Z
o
H
a.
-
o
O
v)
w
fa)

20.25"

LATCH (THRU HOLE)

@ PVC ASTRAGAL
6'8 PVC Astragal by Trinity

SHEET:31 OF 32



BILL OF MATERIAL

DESCRIPTION

MATERIAL

1X' BUCK SG>=0.55

WOOD

2X BUCK SG>=0.55

WOOD

1/4" MAX. SHIM SPACE

1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW

STEEL

#9 X 3/4" PFH WS

STEEL

B INTERNATIONAL

i TRINITY GLASS

TRINITY 6LASS INTERNATIONAL
3365 1ST WAY S
FEDERAL WAY, WA 98003
PH: (253) 875-7300

#9 X 1" PFH WS

STEEL

#9 X 2-1/4" PFH WS

STEEL

#10 X 2-1/2" PFH WS

STEEL

#8 X 2" PFH WS

STEEL

#6 X 1-1/4" DRYWALL SCREW

STEEL

MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301
OR HOLLOW BLOCK CONFORMING TO ASTM C90

CONCRETE

1/4" X 3-3/4" PFH ELCO OR ITW CONCRETE SCREW

STEEL

1/4" X 3-1/4" PFH ELCO OR ITW CONCRETE SCREW

STEEL

3/16" X 3-1/4" PFH ELCO OR ITW CONCRETE SCREW

STEEL

#8 X 2-1/2" PFH WS

STEEL

FX: (954) 744-4738

BILL OF MATERIALS
DANIA BEACH, FL 33004

PH: (954) 399-8478

TITLE: GLAZED FIBERGLASS DOOR
NON-IMP. INSWING/OUTSWING

@ BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PREPARED BY:

3/16" X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW

STEEL

#8 X 1" PFH WS

STEEL

T o|lolo|lzZ(Z|r| X |- I Mmool m|l >

3/16" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW

STEEL

JAMB (FINGER-JOINT PINE - SG>=0.42)

WOOD

JAMB (FINGER-JOINT PINE - SG>=0.42)

WOOD

N =] =
>

JAMB

PVC

JAMB

PVC

JAMB

PVC

WEATHER STRIP QEBD650 Q-LON

3.98" X 4.0" HINGE MIN 0.098" MIN THICK

STEEL

STRIKE PLATE

STEEL

DEADBOLT PLATE

STEEL

SILLKEY

PC/ASA

OUTSWING SILL - ALUMINUM WITH PVC SUBSTRATE

ALUM./PVC

DOOR PANEL - SEE DOOR PANEL CONSTRUCTION DETAILS SHEET

SIDELITE PANEL - SEE SIDELITE PANEL CONSTRUCTION DETAILS SHEET

SIDELITE PANEL - SEE SIDELITE PANEL CONSTRUCTION DETAILS SHEET

SIDELITE PANEL - SEE SIDELITE PANEL CONSTRUCTION DETAILS SHEET

BY | DATE

DESCRIPTION

REVISIONS

OUTSWING SIDELITE SPACER

STANDARD MULLION (FINGER JOINT PINE SG>=0.42)

WOOD

MULLION BASE KIT

PC/ASA

STANDARD MULLION

PVC

"FAT" MULLION

PVC

TWO-PIECE "FAT" MULLION

PVC

1X MULLION

WOOD

ALUMINUM ASTRAGAL BY ENDURA PRODUCTS

ALUMINUM

PVC ASTRAGAL BY TRINITY

PVC

ASTRAGAL STRIKE @ HEAD

STEEL

ASTRAGAL STRIKE @ SILL

STEEL

INSWING SILL - ALUMINUM WITH PVC SUBSTRATE

ALUM./PVC

DOOR SWEEP

PVC

INSWING SIDELITE SPACER

PVC




JELD-WEN DOOR

INSTALLATION DETAILS

TABLE 1

DESIGN PRESSURE RATING:

SIZE QUALIFIES: OPAQUE ACTIVE PANELS WITH NON-IMPACT GLASS SIDELITES’?>
STEEL 24 GA. WOOD EDGE MAX. PANEL WIDTH = 35 3/4" 8-0 TALL SYSTEMS:
OPAQUS:\"r/o F;’;LOE.I;ES.SLEELITES (XX ) (XX0) (OXXO) ( X ) (OX) (XO) (OXO)
. - ouTswing |_POSITIVE +35%
OUTSWING/INSWING GENERAL NOTES NEGATIVE _ 35*
1. THIS PRODUCT IS DESIGNED TO COMPLY WITH CURRENT INTERNATIONAL BUILDING CODE (1.B.C.) & INTERNATIONAL RESIDENTIAL INSWING |_POSITIVE +35%
CODE (I.R.C.) AND THE CURRENT FLORIDA BUILDING CODES (FBC), EXCLUDING HVHZ AND HAS BEEN EVALUATED IN ACCORDANCE NEGATIVE ¥
TO ASTM E283-04, E330-02, E331-00 AND AAMA 1304-02. COMPONENT LIST
2. 1X AND 2X WOOD BUCKS BY OTHERS AND MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE STRUCTURE. BUCK ITEM DESCRIPTION MATERIAL | QTY.
MATERIAL MUST HAVE A SPECIFIC GRAVITY OF 0.55 OR GREATER. 1 |NON-COMPRESSION SHIM (0.25" MAX. THK.) WOOD | AS REQ.
2 |2x WOOD SUB BUCK (S.G. MUST BE 0.55 OR GREATER) WOOD | AS REQ.
3. PRODUCT ANCHOR TYPES AND SPACING ARE SHOWN ON SHEET 7. DIMENSIONS SHOWN FOR ANCHOR SPACING ARE ALWAYS 3 |1x WOOD SUB BUCK (S.G. MUST BE 0.55 OR GREATER) WOOD | AS REQ.
FROM EDGE OF UNIT FRAME. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. 4 %10 WOOD INSTALLATION SCREW W/ 1 12" MIN. EMBEDMENT — STEEL _|AS REQ
4. THIS DOCUMENT SUPERCEDES OTHER ANCHOR INSTALLATION INSTRUCTIONS 5 [3/16" ITW TAPCON ANCHOR W/ 1 1/4" MIN. EMBEDMENT STEEL | AS REQ.
FOR NON-IMPACT RATED DOORS. FOR OTHER IMPORTANT 148 7/8" MAX. FRAME 6 |#9 X 2 1/2" PHILLIPS FLATHEAD WOOD SCREW STEEL | 20R4
INSTALLATION INSTRUCTIONS, REFER TO JELD-WEN | 371127 MAX. 74" MAX. FRAME —»=| 7| #8 X 2" PHILLIPS FLATHEAD WOOD SCREW STEEL _|ASREQ.
DOCUMENT #J11106 (INSTALLATION INSTRUCTIONS FOR FRAME TYP. & 45 X 374" PRILLIPS ELATHEAD /00D SCREW STECL 130 OR 59
PRE-HUNG ENTRY DOORS) FOUND ON THE JELD-WEN 1y DbLO, |
WEBSITE: JELD-WEN.COM/LEARN/RESOURCES/ ‘SHT. #2‘ 9 [1"0.A.1G NON-IMPACT FRAME GLAZED BY ODL Polypropylene| 1 OR 2
INSTALLATION & FINISHING/. ‘V ‘ ‘ 10 |LOCK SERIES 400 STEEL 1
[5. FLORIDA APPROVED SHUTTERS ARE NEEDED = N = = ~ 11 |DEADBOLT SERIES 660 STEEL 1
WHEN IMPACT PROTECTION IS REQUIRED. ; © — Z AN 12 |FLAT LITE KIT ALUMINUM | 1
5. d 13 | ADA THRESHOLD ALUMINUM | 1
6. FOR DESIGN PRESSURE RATINGS, g$8L o 3k NOTE: IF PRODUCT IS CONSTRUCTED USING THE OUTSWING ENDURA
SEE TABLE 1, SHEET 1. G382 3 / FOB4566 (SHOWN BELOW), THEN PRODUCT DOES NOT REQUIRE
ZZ¢w OVERHANG PROTECTION. OTHERWISE, REMAINING SILLS LISTED ON .
£ QELCFSSJEEESRSIJE \é\;%?gsgﬁ"" sz & ( SHEETS 3 THRU. 6 HAVE NOT BEEN RATED FOR WATER INFILTRATION. Z: o
: ezg g o IF AUTHORITY HAVING JURISDICTION VALIDATES THAT PRODUCT mo I32g
EXAMPLE:  3/16" =] |=— 3 9 # = =0 = = MEETS THIS AND/OR OTHER OVERHANG °lESRE
2 £ =N —r REQUIREMENTS, “—" LENGTH rx QS
( s 5 LISTED PRODUCT s g0 ®un
w MAY BE USED | g YT
w Bl X B EF
) s L L ~ WHEN INSTALLED . ] SlREn Y
“ACTIVE ~ INACTIVE AT LOCATION ENDURA FOB4566 i—]n ~ S5
f EXED EXED PROTECTED o 2@ E 5%
NON-IMPACT LITE 12-0 X 8-0 ELEVATION g\l(ﬁcl_)\lzlﬁgml\f g:ﬂégﬁ |§V>E$';ANG (O RATIO= I T é =R
. SEE SHT. #2 DOUBLE DOOR W/ FULL 3-0 SIDELITES (OXXO) i =" 2 -
37 1/2" MAX. O.A. . OVERHANG o
ey .
FRAME TYP. ‘ 75" MAX. FRAME—>‘ ‘ 75" MAX. FRAME——‘ ‘ 112 1/2" MAX. FRAME | i 74" MAX. FRAME——‘ RATIO o2 & -
‘ | bl a 0]
. \ x 3 © =
w B =
‘ a1 | leg|r— — o= - e ao 37 8B &
T (o] a
o 2 o z
s 22| B=
S O w = = < O
N (5 = Y O o @
V] =< N < a0
ESf N L Lle L Ll o | || | = o o=
= s = = o N e = i<
373 \ POEHpTION o 2], 2
= 2 \ i ==\ ==\ e ~ — > = E E g g
ACTIVE ACTIVE ACTIVE ACTIVE ACTIVE U? ; 7 ]
= FIXED FIXED = === \J|FixeD FIXED === ||Fxep = g <4
L
OPAQUE FULL LITE 6-0 X 8-0 ELEVATION 6-0 X 8-0 ELEVATION 9-0 X 8-0 ELEVATION 5 g g o
3-0 X 8-0 ELEVATION DOUBLE (OX) DOUBLE (XO) TRIPLE (OXO) = £
SINGLE (X) & (O) e 2/23/2012
amp
SHEET INDEX 4= NONE
SHEET # DESCRIPTION . ov: G.LUBBECKE
1 GENERAL NOTES, B.0.M., & ELEVATIONS
2 OUTSWING/INSWING BOX MULLING DETAILS crk.8v: S.SAFFELL
3 OUTSWING VERTICAL AND HORIZONTAL SECTIONS IN WOOD 1 01/30/20 DWG NUM. CHANGE FROM TB T H .
4 OUTSWING VERT. AND HORIZ. SECTIONS IN MASONRY/CONCRETE W142012FL TO DO15860] Digitally signed by Hermes F Norero . T PRAVING No-
5 INSWING VERTICAL AND HORIZONTAL SECTIONS IN WOOD. ADA THRESHOLD ADDED Reason: | am approving this document F D015860
6 INSWING VERT. AND HORIZ. SECTIONS IN MASONRY/CONCRETE NO,| DATE BY . . . . : + ' ' dA
7 OUTSWING AND INSWING ANCHORING DETAILS REVISIONS Date: 2020.09.26 09:04.27 +02°00 FBPE CERT ¢ AUTH \"}0 29578 |sweEm 1 oF 7




BOX SIDELITE MULL
MAX. 4 UNITS
EXAMPLE: OXXO, OXO, OX

7-#8 X 2"
PFH SCREW AT
EACH MULLION TYP.

L

APPLY DAP ALEX PLUS SILICONE
OR EQUIV. BETWEEN
JAMBS BEFORE MULLING

1" MIN. —=

FIXED

ACTIVE

?

14 1/2" O.C.
TYP
5" TYP.—=

‘«
I

INTERIOR
SIDE

GLASS

3/4" AIRSPACE

~—3/8" MIN. GLASS
el 13 - BITE

DETAIL B2
ODL NON-IMPACT GLAZING DETAIL
MAX. D.L.O: 21 1/8" X 79 1/8"

DETAIL A2

(7) FASTENER LOCATIONS AT
DOUBLE-BACK JAMB ATTACHMENT

1/8" TEMPERED

1/2 MIN.
GLASS BITE—~

DOW995
STRUCTURA
SEALANT

=

~——211/8" MAX. D.L.O.—

——

S<1

o
N

=

79 1/8" MAX. D.L.O.
|
I

7

ODL LIP-LITE NON-IMPACT
3-0 X 8-0 SHOWN

SEALANT \\repioR

1/8" TEMPERED GLASS
EXTERIOR

WINDOWS & DOORS

Klamath Falls, OR 97601

Phone: (541) 882-3451
Fax: (541) 850-2609

3737 Lakeport Blvd.

-0 X 8-0 OPAQUE OPER. JELWEN'

WITH NON-IMPACT FULL SIDELITES
MULLING DETAILS AND GLAZING OPTIONS

PART OR ASSEMBLY

~ | 24 GA. STEEL W.E. 12

/23/2012

Le: NONE

rm;nwa‘

'UWG 8v: G,LUBBECKE

‘I:r“ h BEVD! wz\ﬁv&as

ek, 8v: S.SAFFELL

DRAWING No.:

D015860

L 3
FBPE CERT }éﬁ AUTH ‘l\}O 29578

SHEET 2 OF 7




1" MIN. [=——==—— 1" MIN. 1" MIN. [=——==—— 1" MIN. %
11/2" MIN /@ 11/2" MIN /@ K
EMB. EMB. EXTERIOR
% /@ i * ,/® | SEE NOTE #7
f Z 77 | I ON SHEET 1
2/ l— 1 1/2" MIN. n
1/4" : 1/4" EMBED.
MAX. 1/8" MAX.
SHIM SHIM / EXTERIOR * ‘ 1" MIN
SEE NOTE #7 INTERIOR EXTERIOR SEE NOTE #7 INTERIOR 4" MIN EXTERIOR
ON SHEET 1 ON SHEET 1 ‘ INTERIOR
OUTSWING OPERATING UNIT
| ) VERTICAL CROSS SECTION f
OUTSWING OPERATING UNIT OUTSWING FIXED UNIT N 11/2" MIN,
VERTICAL CROSS SECTION VERTICAL CROSS SECTION
HEAD JAMB HEAD JAMB 4 ?
INTERIOR EXTERIOR »‘ ~—1" MIN ‘
11/2" MIN. a‘l g 1" MIN |
EMBED. \ 1/4" MAX. HINGE DETAIL: | =T OUTSWING FIXED UNIT
[ ‘ SHIM ~ see NOTE #7 TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM#6) o\ VERT;ﬁ_’}(’;OCNREOf? gif”o'“
7] | ONSHEET 1 CENTER TOP = 8 SCREWS (ITEM #8) EMBED.
1" MIN CENTER BOTTOM = 8 SCREWS (ITEM #8) : Z‘n
A \ BOTTOM = 8 SCREWS (ITEM #8) ? Sl s23a
/ IR PTIYINY o | 2888
INTERIOR 1" MIN N 22
8| O @ "
- MIN OUTSWING OPERATING UNIT w| S22
: VERTICAL CROSS SECTION Bl E PR T
L S )
N
SIRESS
7FIXED UNIT EXTERIOR @
HORIZONTAL CROSS SECTION 1:,(,?52/'[',“ g S
OUTSWING SHOWN ' & B
OUTSWING OPERATING UNIT o5 <
VERTICAL CROSS SECTION %‘ P %
NOTES: ADA SILL o 4 =
FOR PLACEMENT OF ITW TAPCON ANCHORS IN 2X BUCK OR @ 5' [N a)
1X BUCK CONCRETE/MASONRY OPENINGS, SEE SHEET 4 x T I3
T O
@OPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION ﬁ E <ZE i
OF HEAD OR JAMB AS LONG AS MINIMUM EMBEDMENT AND wi E S‘ =
EDGE DISTANCE ARE ACHIEVED. At 2 9
1" MIN. MINC 2] < WLy, " E § £
[3)ITEM#6, (#9 X 2 1/2") TWO SCREWS thE I //, Mz ¥
INTERIOR HINGE AT JOB SITE, CLOSEST TO \@T (@) %, EEla o
2 Nz\8 2
; L [4 AT SILL, PLACE ANCHOR IN SILL&AS 455 g =
' " MAXIMUM SUPPORT. - Vo M- £ E
1% MIN 1" MIN > O & g 5
. ° @ a (@]
SEE NOTE #7 =% H www 2/23/2012
. 1] ON SHEET 1 f =1 R o
| e max 1/4" MAX. =0 : &= NONE
SHIM SHIM 1 [~ = S
11/2" MIN, 11/2" MIN. < Q (g o GLUBBECKE
EMBED. EMBED. ’,, & Y B S.SAFFELL
AL r: N\ .
OUTSWING LATCH JAMB AT FRAME OUTSWING HINGE JAMB AT FRAME 398 E. SBEALH BIVD! TE’&’S DRAWING No:
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION DANVY BE R FL 33 D015860
FBPE CERT. d?‘ AUTHING. 29578 |seer 3 o 7




CONCRETE/ " "
~— 1" MIN. 1" MIN. ~— 1" MIN. 1" MIN. MASONRY SEE NOTE #7 _ = 1"MIN. — 1" MIN.
VN T MIN, /BY OTHERS TYP. ONSHEET 1 e T - "MIN. —
1174 - MIN. | 1" MIN D
MIN 1" MIN. 1" MIN. .
‘ INTERIOR EXTERIOR EXTERIOR EMB. ~ | =
EMBED =
[~ e . 74 SRR . .
| R NS 1 1/4" MIN. 74 Y4 > . E - s
. & . . EMBED Vox DA A SN R
i — oM | S et T E—— 3
CONCRETE/ - . MASONRY ——
MASONRY { ><//@ 1;&18:\5%1\1. D ov, e |BYoTHERs | /// ///////// \@
BY OTHERS 7 7 . . 14 :
" ///, AT —| 1min ‘ 1" MIN glm 4 4
114" QAT /§4 1" MIN INTERIOR EXTERIOR
MAX. EXTERIOR
INTERIOR SEE NOTE #7 | INTERIOR VERTICAL CROSS SECTION SN SotesT ™ OUTSWING OPERATING UNIT
SEENOTE#7_| NEROR| . | ON SHEET 1 - SILICONE AT SILL NSHEETT  “VERTICAL CROSS SECTION
ON SHEET 1 OUTSWING OPERATING UNIT OUTSWING FIXED UNIT - ) CONCRETE/ OPTIONAL 1X BUCK
VERTICAL CROSS SECTION VERTICAL CROSS SECTION ! MASONRY
HEAD JAMB HEAD JAMB BY OTHERS
INTERIOR EXTERIOR
‘ HINGE DETAIL: 11/4" MIN.
TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6)  EMBED
CENTER TOP = 8 SCREWS (ITEM #8) T
CENTER BOTTOM = 8 SCREWS (ITEM #8) l
BOTTOM = 8 SCREWS (ITEM #8) A
1" MIN. // - ot i "
L]
(8) o Zi . =n
" " o | T D
O 1" MIN 1" MIN o 2888
) ] ) OUTSWING OPERATING UNIT Ao xR
Lo 1"MIN. - oy VERTICAL CROSS SECTION | g Oxn
1" MIN.f, N w| o9 4
. Bl XB LY
i . »‘ Lw,-v MAX\ SEE ,\flOTE . 1" MIN. L N \SEE ITEM #7 o|jLLey
- SHIM \_oN SHEET 1 1"MIN. ] ; ON SHEET 1 p—]@ NEE
11/4" MIN FIXED UNIT ‘ j - J L 1/4" MAX. B Begd
EMBED.  HORIZONTAL CROSS SECTION e SHIM oy
OUTSWING SHOWN 1174 -
MIN. EMBED o g
De 2X &
OUTSWING OPERATING UNIT % E
/ . HORIZONTAL CROSS SECTION w Q T
\ . 7O - / 1IN 4_.‘ OPTIONAL 1X BUCK 35 2
1" MIN. s . v °a Q¥
a . 1" MIN. ? - 2 LZ)
. o f © 5 [oNe)
1"MIN. |2 &) 1"MIN. < T 8
E : 1"MIN. | b - L
(1> N (K 2G| 2%
» s N I Z 24
L D 1" MIN. j Tg 53
‘ s 45 3%
: : =3 g=
1" MIN . = 1" MIN. 22|, %z
RTINS R e ON SHEET 1 5 L EE o
| o P 2218 2
o a 1/4" MAX. SE e <
* SHM T F 2O 5 3
114" MAX. ‘ 1.1/4" MIN 23 £ 3
R Iy . N 2D
11/4" MIN. SHIM -~ = EwmsED. = 5°
EMBED. wawe: 2/23/2012
OUTSWING HINGE JAMB AT FRAME OUTSWING LATCH JAMB AT FRAME . =
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION sea'e:NONE
v N
NOTES: = Bve. ev: G,LUBBECKE
[1 >OPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION OF HEAD OR JAMB AS LONG AS MINIMUM CONCRETE/MASONRY 4 4,00 MIN.
EMBEDMENT AND EDGE DISTANCE ARE ACHIEVED. BY OTHERS EMBED crk.8v: S.SAFFELL
’F 04
" OPTIONAL MASONRY/CONCRETE INSTALL DRAWING No.:
[2 DITEM #6, (#9 X 2 1/2") TWO SCREWS TO BE INSTALLED IN TOP HINGE AT JOB SITE , CLOSEST TO WEATHERSTRIP. CROSS SECTION OF HEAD JAMB OR SIDE Jamg | 398 E. 4B D015860
[3 >AT SILL, PLACE ANCHOR IN SILL BASE MATERIAL FOR MAXIMUM SUPPORT. DA WP%A , FL 33.,004\
FBPE CERT. OF AUTH.\NO. 20578 |sesr 4 o 7




! Uk
1"MIN, |[=—=— 'gﬂl\l. 1" MIN. |=—=—=—— 1" MIN.
f f EXTERIOR INTERIOR EXTERIOR INTERIOR
11/2" MIN. @ 11/2" MIN. @
EMB. | : EMB. |
114" T 174" 11/2" MIN. 11/2" MIN. /@
MAX. 1/8" MAX. EMBED. EMBED.
SHIM SHIM $ $
SEE NOTE #7 EXTERIOR INTERIOR SEE NOTE #7 _/ EXTERIOR INTERIOR L_> 1" MIN | 1" MIN i . ‘
ON SHEET 1 ON SHEET 1 1" MIN N 1 1"MIN =
|
L W
INSWING OPERATING UNIT INSWING OPERATING UNIT
VERTICAL CROSS SECTION VERTICAL GROSS SECTION VERTICAL GROSS SEGTION rcRioRVERTICAL CROSS SECTION
HEAD JAMB HEAD JAMB i &
@ nn° EXTERIOR 2 11
11/2" MIN. o &l E
EMBED. 1/4" MAX. ¢ g" %
— ‘*S,.”M HINGE DETAIL: Y
e SEE NOTE #7 TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6) 11/2" MIN.
/) | ONSHEET1 CENTER TOP = 8 SCREWS (ITEM #8) EMBED. .
1" MIN CENTER BOTTOM = 8 SCREWS (ITEM #8) ‘ Z: o
BOTTOM = 8 SCREWS (ITEM #8) ! ‘ o520 g
iy -~ 1"MIN o 2258
EXTERIOR — 1"MIN |~ e xdd
. 2X INSWING OPERATING UNIT 2 *e e 23
1" MIN. VERTICAL CROSS SECTION Bl 2T Y =)
< a 3 £ 52
.. s B EE
1 EXTERIOR NTERIOR | blE | B S 2 £
INTERIOR / " ?
FIXED UNIT W 134" MIN. - 2
HORIZONTAL CROSS SECTION EMBED. i g
INSWING SHOWN - 1 min # YT p— | ) " E
= W ]
* INSWING OPERATING UNIT . 35 @
(3] VERTICAL CROSS SECTION ' 1/2" MIN. Iom| =
EMBED. 2 & g E
5 5% ADA SILL » S g Z
INTERIO| ‘ ¢ 2 4 N
? ‘ 1" MIN %z gg
4 ~— 1"MIN oG 8
(o]
L L o INSWING FIXED UNIT — § Zz
VERTICAL CROSS s“ﬂlp” i ; o =
" " WV iy 9
1" MIN. _ 1"MINC2] | Gres WM ‘y, a2, E
(2> EXTERIOR &1 FOR PLACEMENT OF ITW TAPCON ANCHORS IN ¢ A% % T g W
== 2X BUCK OR 1X BUCK CONCRETE/MASONRY N 7, 5E|& o
A OPENINGS, SEE SHEET 6 v &5 . 2|8 2
A ) AR | N 4 5 % 6 g g
T MIN ’ \ / [ 1" MIN.[2 > OPTIONALLY, ANCHOR CAN BE PLACED IN s 10 25 E 2
: SEE NOTE 47 NARROW SECTION OF HEAD OR JAMB AS - * ~ - s =
? ON SHEET 1 ? LONG AS MINIMUM EMBEDMENT AND EDGE : 4 * [ﬂ:: 2/23/2012
N ‘«1/4.. MAX. 14 Max._| | DISTANCE ARE ACHIEVED. = "70) : = NONE
SHIM SHIM ) [3ITEM #6, (#9 X 2 1/2") TWO SCREWS TO BE =0 s @ EG. o1: G.LUBBECKE
=1 11/2"MIN. 11/2" MIN. INSTALLED IN TOP HINGE AT JOB SITE, A ’&E (g/
EMBED. EMBED. CLOSEST TO WEATHERSTRIP. o B oo SSAFFELL
INSWING LATCH JAMB AT FRAME INSWING HINGE JAMB AT FRAME gﬁ :l y SN e @ DRAWING No:
AT SILL, PLACE ANCHOR IN SILL E. AMERACH BLVDYSTE!
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION @BASE MATERIAL FOR MAXIMUM SUPPORT. 398 DA WF = 3300,'5&,‘8 D015860
FBPE CERT. OF AUTH\ ND. 29578 |seer 5 o 7




CONCRETE/MASONRY N | T 7 ~— 1"MIN. 1" MIN.
o Y OTHERS — 1" MIN. 1 MIN. CONCRETE/MASONRY e BV V—
: : . BY OTHERS MIN. |1 (1>
N VT V— " MIN. —— INTERIOR - [ 1MIN.
" =R EMB. [
1 174" 11/4 iR |INTERIOR B g AN
MIN. 1" MIN. MIN. 1" MIN. ;/@ ok v . ; /@
EMBED \/w/@EMTEDV\// RN 1.1/4" MIN = - :
N [N > e i B St s " . R
‘ s T ’ : g - ool EMBED CONCRETE/J‘/(
N N . N MASONRY
- N BY OTHERS
> ? / b —*7
? — 1/4"
‘ ¢ MAX. ’
— *”@ — "’@ SHIM INTERIOR
T A S A INTERIOR EXTERIOR
f /// ////////// 1/t,-- /// /// /// »‘ 1"MIN | 1" MIN \ ‘« 1" MIN 1" MIN \
w7 T MAX. SEE NOTE #7
r\x:x INTERIOR SHIM INSWING OPERATING UNIT INSWING OPERATING UNIT onsHEET1  INSWING OPERATING UNIT
. — VERTICAL CROSS SECTION VERTICAL CROSS SECTION VERTICAL CROSS SECTION
SHIM EXTERIOR SEE NOTE #7 _/ EXTERIOR INTERIOR
BT | ON SHEET 1 = OPTIONAL 1X BUCK
SEE NOTE#7_/ INSWING OPERATING UNIT INSWING FIXED UNIT -— T T
ON SHEET 1 VERTICAL CROSS SECTION VERTICAL CROSS SECTION
HEAD JAMB HEAD JAMB
EXTERIOR INTERIOR EXTERIOR INTERIOR
11/4" MIN. i
EMBED. HINGE DETAIL: 5K
1 14" MAX. TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM#6) 1 /4" MiN. 114" MIN.
v “TSHIM  reroR CENTER TOP = 8 SCREWS (ITEM #8) EMBED EMBED
. T =T CENTER BOTTOM = 8 SCREWS (ITEM #8) T . ; T
K R BOTTOM =8 SCREWS (ITEM #8) 5 “4 “ s B h Z‘n
N —~ o a N N ]
1M v ////C) N : P O A [J'-]° Eé@%
N T"MIN. - 2X N\ | - > | ‘ CONCRETE/ al@ Z‘ RS
B " 1" MIN " 1" MIN MASONRY £ K o
5 EXTERIOR 1M ‘ T"MIN ‘ BY OTHERS e C(,); g S
v - U = ~—~
; N r \\ 8 INSWING OPERATING UNIT INSWING FIXED UNIT PIEEDRT
-
T MIN, ot X VERTICAL CROSS SECTION VERTICAL CROSS SECTION F]n ~E 5957
1" MIN, ) mf R E é E
| W 5l 02 &
i FIXED UNIT o Shar T / —
HORIZONTAL CROSS SECTION U / . "
o =z
INSWING SHOWN \\ ke i 8
2X (@)
2 @2x ) o9 s
o 35 2
\ . o INTERIOR o / 11/4" MIN. S Z |.|g EE
g EMBED |~ ‘ b B o = w
<4 N ‘ b 1" MIN. . \\\\\ \ seemEM#7|  © g 8 5
1" MIN. N . . o it 52
. <= A ) 1Ml TMIN. j 3 , ‘ ‘ ON SHEET1 < g 8
" ) . B ol g N = 1/4" MAX. o NS
"MIN. |2 N\ 4 ;| 1 MIN. ‘ O R s oz
[ - N\ [ & 23
. \\\' . 114" | RE= 39
“a N \ o ar \\ MIN. EMBED | syyin G OIFEIRAT = %- § <
- f - - - = gz
4 \\ /\ / B( N w > o5
1" MIN. ‘ . 1" MIN. AN W T |g W
> NN SEE NOTE #7 X M N HElE 2
N a4 ON SHEET 1 R : N SEE NOTE #7 .2 |8 2
. R Lo \\\ ON SHEET 1 % 3 |5 2
| “la 5 UAMAX. | | e \\\ % < E 2
1/4" MAX SHIM = g =
N : ‘ 11/4" MIN. X e
1 1/4" MIN. SHIM — ~— EMBED. \\\ i 2/23/2012
EMBED. == 1
f i NONE
INSWING HINGE JAMB AT FRAME INSWING LATCH JAMB AT FRAME < . o
NoTEs: HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION v R SH'mX- . ev: G.LUBBECKE
[1 >OPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION OF HEAD OR JAMB AS LONG AS MINIMUM K. BY: S.SAFFELL
EMBEDMENT IS ACHIEVED. CONGRETE/MASONRY 4 4% MIN. pe—

BY OTHERS

[2 DITEM #6, (#9 X 2 1/2") TWO SCREWS TO BE INSTALLED IN TOP HINGE AT JOB SITE , CLOSEST TO WEATHERSTRIP.
[3 DAT SILL, PLACE ANCHOR IN SILL BASE MATERIAL FOR MAXIMUM SUPPORT.

BED

OPTIONAL MASONRY/CONCRETE INSTALL

CROSS SECTION OF HEAD JAMB OR SIDE JAMB

D015860

SHEET

6

OF

7




3712"MAX. _, & o
~ ME e
~—74" MAX. O.A. FRAME O-A"- F\F;l/; G
SHIM FOR SUPPORT AT OR NEAR _— ‘ . ¢ ! X i o
(4X5) EACH ANCHOR IS REQUIRED ; i ] i | %
- R o 4 c7 : C7 I T H ( fd
> % o m | T Q o~
/ \ 149" MAX. O.A. FRAME A = w§ ] I S gl i
" T =
—= | =—3"TYP. c7 C7 ‘ 8 2 | B7 s é o ( L
o=z I A
N R H - o ! ] A Wy t ¢ WL b
OO S . | s | 19 ] -,
Q9 [ w X ~ 0 f
=2 — | - % o6 X \ o X o
2 Bl =< T 4 o>
322 B/ A7 | s = . |
32 A7 ¢ t o T | Kl
II + ﬂt (t 0 I LY ) o
<§( s | [ [ L > A D7 — D7 . | j : | ?
< T 5 T T
201 o] | X X o [ .1
<% rer e 6-0 X 8-0 OUTSWING/INSWING o o i o
== 4 | *—l # | (30) ANCHOR LOCATIONS (18) ANCHOR LOCATIONS
58 r | o7 [ - E 8‘ (FROM EDGE OF FRAME) (FROM EDGE OF FRAME)
© 4 | D7 . T ~ )
@ . I — .o .
T R > . : . o
% | o ] =I5 MAXFRAME = 4\‘«'_ g% = e e ] E]E SgR¢g
12-0 X 8-0 OUTSWING/INSWING r» [~—3"TYP. P ‘ | J & 5 . TYP.»‘ «‘ - 0 z 5 2 8
(50) ANCHOR LOCATIONS e + = T I— ": o — ’_L #L . : q%- 3 2 Sué
(FROM EDGE OF FRAME) g A'f | L{ | + L] z E z 5 g
0$3a52 r SRS
112 1/2" MAX FRAME mt§&2§4 s REsé
TYP—~ =—"=>5%
I N N — < 2w :

‘ n !ﬁ ! L T ~ O = % PANEL | CENTER ';:".' ‘é’
9 ' I ¢ Fed I — o 5
=10) . X O . | — | w B o
£ 1 =34 ~ DETAIL A7 N £z g
32 A7 Vot - &5 ! (6) ANCHOR LOCATIONS AT MU S & 2
Wy - ¢ t © 7 I (LEFT MULL SHOWN, @ 3 z

w
= PANEL | CENTER OOLN . T ' ﬁ RIGHT MULL OPPOSITE SHOWN) S E 9

h'd N <
v E_ 1 O X O _ f 6-0 X 8-0 OUTSWING/INSW"I;I%  FRAME) o2 5
2% & (28) ANCHOR LOCATIONS (FROM EDGE C 43 3
== | = | 8"TYP. =~ ‘«—)3"TYP. 42/, 2o
% 5 il FTYPl = oz g =
8 1 = e "5l g
g i T 11 T 1T ' f ;J] o & 5 =
S 8 2

f 9-0 X 8-0 OUTSWING/INSWING % 5 |E
(38) ANCHOR LOCATIONS X ¢t X = 2002
(FROM EDGE OF FRAME) . | »oro ASTRAGAL% ”‘m = NoNE

- #8 X 3" PFH Z=———=  STRIKEPLUG { ‘ — . o: ;;;J\s:ESEE

SCREW i u CHK. BY: .

v “ I . DRAWING No.:

P ASTRAGAL OM SHOOT DETAIL B7 398 E'f”’,'? A Bu;w:g\' 758 D015860
1- TO 1- BOTT NG |~ DA R )
STRIKE PLATE DETAIL D7—D7 BOLT INSERT PLUG _DETAIL D7-=D7_ (10) ANCHOR LOCATIONS Capn CERTF_’%"\, RUMING, 29578 |ser 7 o 7
DETAIL C7—C7 R INSWING ONLY AT ASTRAGAL
SUING O INSING OUTSWING ONLY
OUTSWING




		2016-10-18T09:21:11-0400
	Hermes F. Norero, P.E.
	I am approving this document


		2020-09-26T09:04:27+0200
	Hermes F Norero
	I am approving this document




